
Q.1 एक िनिʮत कूट भाषा मŐ, 'ABASE' को 'ZEZVD' के ŝप मŐ कूटबȠ िकया जाता है और 'BANDS' को
'EZQGV' के ŝप मŐ कूटबȠ िकया जाता है। उसी भाषा मŐ 'CABIN' को िकस Ůकार कूटबȠ िकया
जाएगा?

Ans 1. FDELQ

2. FZYLK

3. FZEHQ

4. FAEIQ

Question ID : 26433067339

Status : Answered

Chosen Option : 3

Q.2 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word)
Cells : Tissue :: Organs : ?

Ans 1. Kidney

2. Body

3. Heart

4. Lungs

Question ID : 26433067808

Status : Answered

Chosen Option : 2

Q.3 एक िनिʮत कूट भाषा मŐ, ‘come home soon' को '444' के ŝप मŐ कूटबȠ िकया जाता है, 'are you
coming' को '336' के ŝप मŐ कूटबȠ िकया जाता है और ‘raining badly outside' को '757' के ŝप
मŐ कूटबȠ िकया जाता है। उसी भाषा मŐ, ‘kids are Happy’ को िकस Ůकार कूटबȠ िकया जाएगा?

Ans 1. 534

2. 435

3. 345

4. 543

Question ID : 26433067772

Status : Answered

Chosen Option : 2
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Q.4 चार अƗर-समूह िदए गए हœ िजनमŐ से तीन िकसी न िकसी तरह से एकसमान हœ और एक असंगत है।
उस असंगत अƗर-समूह का चयन कीिजए।

Ans 1. WTQ

2. GEB

3. MJG

4. OLI

Question ID : 26433068506

Status : Answered

Chosen Option : 2

Q.5

Ans 1. JOE

2. IOJ

3. IOE

4. JOP

Question ID : 26433085329

Status : Answered

Chosen Option : 1

Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 26433076660

Status : Answered

Chosen Option : 1



Q.7 िदए गए दो िच˥ो ं को आपस मŐ पर˙र बदलने पर िनɻिलİखत मŐ से कौन सा समीकरण सही होगा?
× तथा –

Ans 1. 16 – 4 ÷ 2 + 8 × 1 = 36

2. 7 × 9 – 8 ÷ 2 + 6 = 25

3. 5 + 7 × 3 – 4 ÷ 2 = 8

4. 8 × 6 – 9 ÷ 3 + 10 = 0

Question ID : 264330105118

Status : Answered

Chosen Option : 4

Q.8 िवकʙों मŐ से उस समुǄय का चयन कीिजए िजसमŐ दी गई संƥाओं के बीच वही संबंध है, जो संबंध
नीचे िदए गए समुǄयों की संƥाओं के बीच है।
(नोट: आपको संƥाओं पर कोई भी संिŢया उनके घटक अंको ं मŐ िवभािजत िकए िबना, पूणŊ संƥाओं
पर ही करनी है।)
(2, 4, 18)
(1, 9, 50)

Ans 1. (5, 4, 18)

2. (2, 5, 49)

3. (6, 4, 10)

4. (3, 5, 32)

Question ID : 26433069237

Status : Not Answered

Chosen Option : --

Q.9 F + M का अथŊ है ‘F, M का पित है’
F ÷ M का अथŊ है ‘F, M की पुũी है’
F - M का अथŊ है ‘F, M का िपता है’
F × M का अथŊ है ‘F, M की माँ है’
यिद U + V × K – B है, तो U, B से िकस Ůकार संबंिधत है?

Ans 1. िपता

2. दादा

3. नानी

4. दादी

Question ID : 26433068071

Status : Answered

Chosen Option : 2

Q.10 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(5, 35, 7)
(8, 32, 4)

Ans 1. (4, 30, 7)

2. (11, 56, 5)

3. (3, 27, 9)

4. (9, 38, 4)

Question ID : 26433070241

Status : Answered

Chosen Option : 3



Q.11 गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ , िजɎŐ * िच˥ो ं के ̾थान पर Ţिमक ŝप से रखे जाने
पर िदया गया समीकरण संतुिलत हो जाएगा।
59 * 12 * 6 * 24 * 2 * 105

Ans 1. −, ÷, +, ×, =

2. −, +, −, +, =

3. ×, −, +, ×, =

4. +, ×, +, −, =

Question ID : 26433068683

Status : Answered

Chosen Option : 1

Q.12 िनɻिलİखत मŐ से कौन सा अƗर-समूह दी गई Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगा?
EGJM, GFLN, IENO, ?, MCRQ

Ans 1. KDPP

2.  KPDD

3.  KPDK

4.  KPDP

Question ID : 26433065949

Status : Answered

Chosen Option : 1



Q.13

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057948

Status : Answered

Chosen Option : 3



Q.14

Ans
1. 

2. 

3. 

4. 

Question ID : 26433068206

Status : Answered

Chosen Option : 4

Q.15 उस िवकʙका चयन कीिजए जो िदए गए शɨों के उस सही Ţम को िनŝिपत करता है िजस Ţम मŐ वे
अंŤेजी शɨकोश मŐ आते हœ।
1- Empress
2- Employee
3- Empty
4- Emporium
5- Employer

Ans 1. 5, 2, 4, 1, 3

2. 2, 5, 4, 1, 3

3. 2, 5, 1, 4, 3

4. 5, 2, 1, 4, 3

Question ID : 26433079442

Status : Answered

Chosen Option : 2

Q.16 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(99, 199, 1199)
(15, 115, 1115)
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)

Ans 1. (77, 717, 7117)

2. (22, 222, 2222)

3. (33, 133, 1133)

4. (11, 111, 1000)

Question ID : 26433087186

Status : Answered

Chosen Option : 3



Q.17

Ans 1. 3

2. 6

3. 2

4. 4

Question ID : 26433069065

Status : Answered

Chosen Option : 2

Q.18 िदये गये कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गयी जानकारी सही है,
भले ही वह सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, िनणŊय करŐ िक िदए गए िन̽कषŘ मŐ से
कौन-सा/से िनʺषŊ कथन(नो)ं का तािकŊ क ŝप से अनुसरण करता/करते है/हœ।
कथन:
कुछ फशŊ ɘेट हœ।
कोई ɘेट सोफा नही ं है।
सभी उȨान ɘेट हœ।
िनʺषŊ:
I. कुछ फशŘ के उȨान होने की संभावना है।
II. कोई उȨान सोफा नही ं है।
III. सभी ɘेट उȨान हœ।
IV. कोई फशŊ सोफा नही ं है।

Ans 1. केवल िनʺषŊ I, II और IV अनुसरण करते हœ

2. केवल िनʺषŊ I अनुसरण करता है

3. केवल िनʺषŊ I और II अनुसरण करते हœ

4. केवल िनʺषŊ II और III अनुसरण करते हœ

Question ID : 26433070348

Status : Answered

Chosen Option : 3

Q.19 यिद A ÷ B का अथŊ है िक A, B का भाई है, A × B का अथŊ है िक A, B की बहन है, A – B का अथŊ है
िक A, B का िपता है, तो िनɻिलİखत मŐ से कौन सा ʩंजक यह िनŝिपत करता है, िक P, R का िपता
है?

Ans 1. P – Q ÷ R

2. P – Q × R

3. P × Q – R

4. P ÷ Q × P

Question ID : 264330105005

Status : Answered

Chosen Option : 1



Q.20 िनɻिलİखत मŐ से कौन सी संƥा दी गई ŵेणी मŐ Ůʲिच˥ (?) के ̾थान पर आएगी?
37, 39, ?, 242, 970, 4852

Ans 1. 80

2. 160

3. 122

4. 108

Question ID : 26433068965

Status : Answered

Chosen Option : 1

Q.21 उस शɨ-युƵ का चयन करŐ जो नीचे िदए गए शɨ-युƵ मŐ ʩƅ िकए गए संबंध के समान संबंध का
सवŖ̝तम ढंग से िनŝपण करता है। (शɨों को अथŊपूणŊ शɨो ं के ŝप मŐ माना जाना चािहए और इɎŐ
शɨ मŐ अƗरो ं की संƥा/ ʩंजनो ं की संƥा/ ˢरों की संƥा आिद के आधार पर एक दूसरे से संबȠ
नही ं िकया जाना चािहए।)
लाइŰेįरयन : लाइŰेरी

Ans 1. चौकीदार : टŌ ेन

2. िचिकȖक : इलाज

3. पुजारी : मंिदर

4. नािवक : हवाई जहाज

Question ID : 26433065977

Status : Answered

Chosen Option : 3

Q.22 नीचे िदए गए Ůʲ मŐ कुछ कथनऔर उनके बाद उन कथनो ं पर आधाįरत कुछ िनʺषŊ िदए गए हœ। िदए
गए कथनो ं को सही मानŐ, भले ही उनमŐ सामाɊतः ǒात तȚों से िभɄता हो। सभी िनʺषŊ पढ़Ő और िफर
िनधाŊįरत करŐ िक कौन से िनʺषŊ, िदए गए कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।
कथन:
I. कोई P, Q नही ं है।
II. सभी B, Q हœ।
िनʺषŊ:
I. कोई P, B नही ं है।
II. कुछ Q, P नही ं हœ।
III. कुछ B, Q नही ं हœ।

Ans 1. केवल िनʺषŊ I अनुसरण करता है

2. कोई भी िनʺषŊ अनुसरण नही ं करता है

3. I तथा II दोनों िनʺषŊ अनुसरण करते हœ

4. I तथा III दोनों िनʺषŊ अनुसरण करते हœ

Question ID : 264330104943

Status : Answered

Chosen Option : 1

Q.23 नीचे िदए गए Ůʲ मŐ, चार संƥा युƵ िदए गए हœ। Ůȑेक युƵ मŐ (–) के बायी ंओर दी गई संƥा (–) के
दायी ंओर दी गई संƥा से िकसी तकŊ /िनयम/संबंध से संबंिधत है। तीन युƵ उसी एक तकŊ /िनयम/संबंध
के आधार पर समान हœ। िदए गए िवकʙों मŐ से िवषम को चुिनए।(ȯान दŐ: संƥाओं को उनके संघटक
अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर संिŢयाएँ िन˃ािदत की जानी चािहए। उदाहरण "13" -
13 पर संिŢयाएँ जैसे िक 13 मŐ जोड़ना/घटाना/गुणा करना आिद िकया जा सकता है। 13 को 1 और 3 मŐ
तोड़ना और िफर 1 और 3 पर गिणतीय संिŢयाएँ करने की अनुमित नही ं है)

Ans 1. 4 – 14

2. 14 – 192

3. 12 – 142

4. 8 – 62

Question ID : 264330105056

Status : Answered

Chosen Option : 2



Q.24 िदए गए दो िच˥ो ं को आपस मŐ पर˙र बदलने पर िनɻिलİखत मŐ से कौन सा समीकरण सही होगा?
÷ तथा +

Ans 1. 12 ÷ 8 × 3 + 6 – 10 = 8

2. 18 ÷ 24 – 6 × 6 + 3 = 32

3. 7 + 21 × 42 ÷ 14 – 9 = 19

4. 12 – 8 + 12 × 9 ÷ 3 = 10

Question ID : 264330105114

Status : Answered

Chosen Option : 3

Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057523

Status : Answered

Chosen Option : 1

Q.1 Identify an example of organisms that do NOT belong to the third trophic level.

Ans 1. Wolves

2. Birds

3. Fishes

4. Cows

Question ID : 26433087875

Status : Answered

Chosen Option : 2

Section : General Awareness



Q.2 Identify the statement that is NOT true about ATP.

Ans 1. nerve impulse propagation

2. Secretion of enzymes

3. Protein synthesis

4. Contraction of muscles

Question ID : 26433066669

Status : Not Answered

Chosen Option : --

Q.3 'G' के मान की खोज िकसके Ȫारा की गई?

Ans 1. मैरी Ɛूरी

2. आइज़ैक Ɋूटन

3. हेनरी कैवŐͤिडश

4. माइकल फ़ैराडे

Question ID : 26433086737

Status : Answered

Chosen Option : 2

Q.4 िनɻिलİखत मŐ से कौन-सा नगर चोल वंश के शासन के दौरान मंिदर नगर के ŝप मŐ िवकिसत Šआ?

Ans 1. अहमदनगर

2. अजमेर

3. अहमदाबाद

4. िभʟˢािमन

Question ID : 264330105443

Status : Not Answered

Chosen Option : --

Q.5 औȨोिगक नीित संकʙ 1956, उȨोगो ं को िकतनी ŵेिणयो ं मŐ वगŎकृत करता है?

Ans 1. 4

2. 5

3. 3

4. 6

Question ID : 26433065437

Status : Not Answered

Chosen Option : --

Q.6 गोडंवाना कोयले, जो धातुशोधन कोयला हœ, के Ůमुख संसाधन ______ मŐ İ̾थत हœ।
Ans 1. दामोदर घाटी

2. कृˁा घाटी

3. नमŊदा घाटी

4. चंबल घाटी

Question ID : 264330105508

Status : Not Answered

Chosen Option : --



Q.7 उस शा˓ीय नतŊक/नृȑांगना का नाम बताइए िजसे 1968 मŐ Ůाणी िमũ पुरˋार िदया गया था।
Ans 1. डॉ पȧा सुŰ˦ǻम

2. िबिपन िसंह

3. ŜİƏणी देवी अŜंडेल

4. शोवना नारायण

Question ID : 26433082131

Status : Not Answered

Chosen Option : --

Q.8 िकस भारतीय संगीतकार ने नीदरलœड्स मŐ रॉटरडैम ʄूिज़क कंजवőटरी मŐ िवʷ संगीत िवभाग के
कलाȏक िनदőशक के ŝप मŐ काम िकया है?

Ans 1. रोनू मजूमदार

2. हįरŮसाद चौरिसया

3. िनȑानंद हʗीपुर

4. Ůवीण गोडİखंडी

Question ID : 26433054847

Status : Not Answered

Chosen Option : --

Q.9 15वŐ पुŜष एफआईएच (FIH) हॉकी वʒŊ कप का आयोजन िकस वषŊ मŐ िकया जाएगा?
Ans 1. 2025 मŐ

2. 2023 मŐ

3. 2022 मŐ

4. 2024 मŐ

Question ID : 26433071558

Status : Answered

Chosen Option : 2

Q.10 िदʟी के महरौली मŐ İ̾थत लौह ˑंभ िनɻिलİखत मŐ से िकस गुɑ शासक से संबंिधत है?

Ans 1. ˋंदगुɑ

2. समुūगुɑ

3. कुमारगुɑ

4. चȾगुɑ िȪतीय

Question ID : 264330105202

Status : Answered

Chosen Option : 4

Q.11 संयुƅ रा Ō̓ पयाŊवरण कायŊŢम ने _______ सरकार के साथ उनके 'माझी वसंुधरा' अिभयान का समथŊन
करने के िलए एक समझौता ǒापन पर हˑाƗर िकए हœ।

Ans 1. महारा Ō̓

2. राज̾थान

3. गुजरात

4. कनाŊटक

Question ID : 264330105281

Status : Answered

Chosen Option : 2



Q.12 आईसीसी (ICC ) मिहला िŢकेट िवʷ कप 2022 कहाँ आयोिजत Šआ था?
Ans 1. इंƸœड मŐ

2. Ɋूजीलœड मŐ

3. ऑ Ōː ेिलया मŐ

4. भारत मŐ

Question ID : 26433071549

Status : Answered

Chosen Option : 2

Q.13 दिƗण अमेįरका के 'ऐडंीज पवŊत' पर पįरवहन के िलए िनɻ मŐ से िकस जानवर का उपयोग िकया जाता
है?

Ans 1. गधे

2. लामा

3. बैल

4. ऊँट

Question ID : 264330105603

Status : Answered

Chosen Option : 2

Q.14 Which of the following organisations of the Government of India has been reporting
the GDP at factor cost and at market prices?

Ans 1. NITI Aayog

2. Central Statistics Office

3. National Sample Survey Organisation

4. Reserve Bank of India

Question ID : 264330105392

Status : Answered

Chosen Option : 3

Q.15 मंिũपįरषद के मंिũयो ं की संƥा राǛों की िवधानसभा के सद˟ों की कुल संƥा के ___% से अिधक
नही ं होगी।

Ans 1. 20

2. 10

3. 12

4. 15

Question ID : 26433064851

Status : Answered

Chosen Option : 4

Q.16 ŮिसȠ पहाड़ी नगर उड्गमंडलम् को ______ के नाम से भी जाना जाता है।
Ans 1. िशवपुरी

2. कोडईकनाल

3. मसूरी

4. ऊटी

Question ID : 264330105659

Status : Answered

Chosen Option : 3



Q.17 वाˋो डी गामा, एक पुतŊगाली खोजकताŊ, ने भारत के िलए समुūी मागŊ की खोज _______ मŐ की थी।
Ans 1. 1488

2. 1498

3. 1518

4. 1508

Question ID : 264330105551

Status : Answered

Chosen Option : 2

Q.18 सुरेखा पुनेकर भारतीय राǛ महारा Ō̓ की एक __________ नृ̝यांगना हœ।
Ans 1. लावणी

2. कोली

3. पोवदा

4. तमाशा

Question ID : 26433064306

Status : Answered

Chosen Option : 1

Q.19 Ůारंिभक तुकŎ शासको ं ने िदʟी पर _____ वषŘ के बीच शासन िकया।
Ans 1. 1192 और 1225

2. 1165 और 1198

3. 1226 और 1290

4. 1206 और 1290

Question ID : 264330105422

Status : Answered

Chosen Option : 4

Q.20 Among the following, which contains the lowest amount of sugar?

Ans 1. Mango

2. Banana

3. Apple

4. Potato

Question ID : 26433064433

Status : Answered

Chosen Option : 4

Q.21 िनɻिलİखत मŐ से कौन मोिहनीअǥम शा˓ीय नृȑ शैली का/की Ůितपादक नही ं है?

Ans 1. ŮतीƗा काशी

2. जयŮभा मेनन

3. İ˝ता राजन

4. राधा दȅा

Question ID : 26433082132

Status : Not Answered

Chosen Option : --



Q.22 पाįरवाįरक Ɋायालय (संशोधन) िवधेयक 18 जुलाई, 2022 को लोकसभा मŐ पेश िकया गया था। इस
अिधिनयम के तहत, िनɻिलİखत राǛों मŐ से िकस राǛ ने पįरवार Ɋायालयो ं की ̾थापना की है?

Ans 1. अŜणाचल Ůदेश

2. असम

3. गुजरात

4. िहमाचल Ůदेश

Question ID : 264330105231

Status : Not Answered

Chosen Option : --

Q.23 अगˑ 2022 मŐ, कŐ ū सरकार ने _______ को Ůधान मंũी कायाŊलय मŐ एक िनदेशक के ŝप मŐ िनयुƅ
िकया है।

Ans 1. अनुज पोȞार

2. ʷेता िसंह

3. राजेश वमाŊ

4. गोपाल िवǧल

Question ID : 264330105328

Status : Answered

Chosen Option : 2

Q.24 The core of earth is made up of ______.

Ans 1. iron and cobalt

2. nickel and iron

3. nickel and magnesium

4. cobalt and nickel

Question ID : 26433066511

Status : Answered

Chosen Option : 3

Q.25 भारत के संिवधान के िकस भाग मŐ मौिलक अिधकारो ं का उʟेख है?

Ans 1. भाग IV

2. भाग VI

3. भाग IX

4. भाग III

Question ID : 26433086799

Status : Answered

Chosen Option : 4

Q.1

Ans 1. a = sin x , b = tan x

2. a = cot x , b = cos x

3. a = cos x , b = tan x

4. a = sin x , b = cot x

Question ID : 26433061627

Status : Answered

Chosen Option : 2

Section : Quantitative Aptitude



Q.2 संƥाओ ं17, 272 और 19 का चतुथाŊनुपाती ǒात कीिजए।
Ans 1. 332 

2. 403 

3. 304

4. 323 

Question ID : 26433065085

Status : Answered

Chosen Option : 3

Q.3 एक िनिʮत रािश 20 वषŘ मŐ छह गुना हो जाएगी। उसी रािश को 5 गुना होने मŐ िकतना समय लगता है?
Ůȑेक मामले मŐ साधारण ɯाज की समान दर मान लŐ।

Ans 1. 16 वषŊ

2. 16 वषŊ 8 महीने

3. 15 वषŊ

4. 15 वषŊ 8 महीने

Question ID : 26433075916

Status : Answered

Chosen Option : 1

Q.4

Ans
1. 

2. 

3. 

4. 

Question ID : 26433087402

Status : Answered

Chosen Option : 3

Q.5 पहले वषŊ मŐ कोरोना वायरस की पहली लहर के कारण एक शहर की आबादी 5% कम हो गई। अगले
वषŊ दूसरी लहर के कारण यह आबादी िफर से 5% कम हो गई और तीसरे वषŊ मŐ यह आबादी 5% बढ़
गई। तीसरे वषŊ के अंत मŐ आबादी 9,47,625 थी। पहले वषŊ की शुŜआत मŐ आबादी िकतनी थी?

Ans 1. 7,00,000  

2. 10,00,000  

3.  9,92,519 

4.  8,97,993 

Question ID : 26433066182

Status : Answered

Chosen Option : 2



Q.6 In a ∆ABC, AD, BE and CF are the medians from vertices A, B and C, respectively. The
point of intersection of AD, BE and CF is called ________.

Ans 1. orthocentre

2. centroid

3. median point

4. incentre

Question ID : 26433075866

Status : Answered

Chosen Option : 2

Q.7 A hollow sphere has an outer radius of 6 cm and inner radius of 3 cm. What is the
volume of this hollow sphere?

Ans 1. 144p cm3

2. 356p cm3

3. 252p cm3

4. 175p cm3

Question ID : 264330105875

Status : Answered

Chosen Option : 3

Q.8 एक दुकानदार अपनी वˑु को 10% की छूट पर बेचने का दावा करता है, लेिकन वह अपनी वˑु पर
Ůȑेक के मूʞ मŐ 20% की वृİȠ करके अंिकत करता है। उसका लाभ Ůितशत _______ है।

Ans 1. 12%

2. 18%

3. 8%

4. 16%

Question ID : 26433075153

Status : Answered

Chosen Option : 3

Q.9 एक िनिʮत संƥा मŐ 7 जोड़ा जाता है और योग को 5 से गुणा िकया जाता है। िफर गुणनफल को 3 से
िवभािजत िकया जाता है और 4 को भागफल मŐ से घटाया जाता है। यिद पįरणाम 16 आता है, तो मूल
संƥाƐा है?

Ans 1. 1

2. 4

3. 3

4. 5

Question ID : 26433063765

Status : Answered

Chosen Option : 4

Q.10 एक छाũ के अंक 45 के ̾थान पर गलती से 65 दजŊ कर िदए गए। इसके कारण कƗा के औसत अंक मŐ
1/3 की वृİȠ हो गई। कƗा मŐ छाũो ं की संƥा _________ है।

Ans 1. 60

2. 30

3. 40

4. 20

Question ID : 26433072995

Status : Answered

Chosen Option : 1



Q.11

यिद sec x – cos x = 4 है, तो का मानƐा होगा?

Ans
1. 

2. 9/4

3. 

4. 1/4

Question ID : 264330105900

Status : Not Answered

Chosen Option : --

Q.12 मोिहत ने एक मेज Rs.1,260 मŐ खरीदी और उसके ऊपर कुछ खरोचं लगने के कारण उसने उसे
Rs.1,197 मŐ बेच िदया। उसका हािन ŮितशतƐा है?

Ans 1. 4%

2. 6%

3. 5%

4. 7%

Question ID : 26433066358

Status : Answered

Chosen Option : 3

Q.13 Find the total surface area of a cube whose volume is 343 m3.

Ans 1. 

2. 

3. 

4. 

Question ID : 26433063911

Status : Answered

Chosen Option : 3

Q.14 एक वृȅ की िũǛा 5 cm है। इस वृ̝त के कŐ ū से 10 cm की दूरी पर İ̾थत एक िबंदु से इस पर खीचंी गई
˙शŊ रेखा की लंबाई की गणना करŐ।

Ans
1. 

2. 

3. 

4. 

Question ID : 26433066390

Status : Answered

Chosen Option : 1



Q.15 4.08 और 6.63 का महȅम समापवतŊक (HCF) ǒात करŐ।
Ans 1. 0.50

2. 0.53

3. 0.52

4. 0.51

Question ID : 26433080078

Status : Answered

Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 26433075785

Status : Not Answered

Chosen Option : --

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 26433086279

Status : Not Answered

Chosen Option : --



Q.18 िनɻिलİखत ʩंजक का गुणनखǷ ǒात करŐ :
p3+ 27

Ans 1. 

2. 

3. 

4. 

Question ID : 26433091628

Status : Answered

Chosen Option : 1

Q.19 नीचे दी गई तािलका पाँच कंपिनयो की बाइकऔर कार की िबिŢ को दशाŊती है।

J1 = कंपनी P, Q तथा R की बाइक की औसत िबŢी।
J2 = कंपनी R, S तथा T की कार की औसत िबŢी।
(J1 : J2) का मान Ɛा है?

Ans 1. 7 : 24

2. 8 : 25

3. 25 : 8

4. 24 : 11

Question ID : 264330105742

Status : Answered

Chosen Option : 2

Q.20 यिद एक िũभुज के कोण (x – 6) िडŤी, (x + 26) िडŤी तथा 8x िडŤी हœ, तो 2x का मान Ɛा है?

Ans 1. 48 िडŤी

2. 32 िडŤी

3. 16 िडŤी

4. 12 िडŤी

Question ID : 264330105816

Status : Answered

Chosen Option : 2

Q.21 500 m की एक रेखीय दौड़ मŐ, A, B को 50 m से हरा सकता है और 600 m की दौड़ मŐ, B, C को 60 m
से हरा सकता है। 400 m की दौड़ मŐ A, C को िकतने मीटर से हराएगा?

Ans 1. 72

2. 70

3. 76

4. 68

Question ID : 26433075202

Status : Not Answered

Chosen Option : --



Q.22 θ = 135°; γ=15°.
2 cos(θ) sin(γ) का मान ̋या है?

Ans

1. 

2. 

3. 

4. 

Question ID : 26433061335

Status : Not Answered

Chosen Option : --

Q.23 यिद 4(z + 7) (2z – 1) = Az2 + Bz + C है, तो A + B + C का मान ǒात करŐ।
Ans 1. 74

2. 32

3. 28

4. 81

Question ID : 26433076344

Status : Answered

Chosen Option : 2

Q.24 राजू, सुनील और िवशाल अलग-अलग एक काम को Ţमशः 20, 30 और 40 िदनो ं मŐ पूरा कर सकते हœ।
राजू िकतने िदनो ं मŐ यह काम खȏ कर सकता है, यिद सुनील से शुŝ करते Šए, सुनील और िवशाल
Ȫारा एकांतर िदनो ं मŐ (पहले िदन सुनील और दूसरे िदन िवशाल) उसकी सहायता की जाती है?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433075572

Status : Not Answered

Chosen Option : --



Q.25 नीचे दी गई तािलका 5 िविभɄ िदनो मŐ दो ʩİƅयो की कमाई को दशाŊती है।

सभी पाँच िदनो मŐ A तथा B की कुल कमाई के बीच का अंतर Ɛा है?

Ans 1. 45

2. 55

3. 50

4. 35

Question ID : 264330105753

Status : Not Answered

Chosen Option : --

Q.1 Select the most appropriate ANTONYM of the given word.
Hazard

Ans 1. Protection 

2. Jeopardy

3. Danger

4. Peril

Question ID : 26433060434

Status : Answered

Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

The rate of interest for the loan went out all our calculations.

Ans 1. under all our calculations

2. No substitution 

3. besides all our calculations

4. beyond all our calculations

Question ID : 26433089277

Status : Answered

Chosen Option : 4

Q.3 Select the INCORRECTLY spelt word.

Ans 1. Mortgage

2. Hygene 

3.  Champagne

4. Bouquet

Question ID : 26433065133

Status : Answered

Chosen Option : 3

Section : English Comprehension



Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

Cancel or do away with (a law or agreement)

Ans 1. Ultimation

2. Abrogate

3. Prorogation

4. Cancellation

Question ID : 26433071927

Status : Answered

Chosen Option : 2

Q.5 Select the correct indirect form of the given sentence. .
Anita said to the mother, “Your child has been crying since morning.”

Ans 1. Anita told the mother that her child was crying since morning.

2. Anita told the mother that her child had been crying since morning.

3. Anita told the mother that her child had been cry since morning.

4. Anita told the mother that your child had been crying since morning.

Question ID : 264330104606

Status : Answered

Chosen Option : 2

Q.6 Select the most appropriate option to replace the underlined segment in the given
sentence.
Shyama does not laugh, nor she smiles.

Ans 1. nor she does smile

2. she does smile

3. nor she smile does

4. nor does she smile

Question ID : 26433084737

Status : Answered

Chosen Option : 4

Q.7 Select the correct passive form of the given sentence.
Did he do his mission?

Ans 1. Was his mission being done by him?

2. Was his mission done by him?

3. Was his mission do by him?

4. Had his mission been done by him?

Question ID : 264330104550

Status : Answered

Chosen Option : 2



Q.8 Sentences of a paragraph are given in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A.Dozens of distinctly different regional languages are spoken in India, which share
many characteristics such as grammatical structure and vocabulary.
B.India has had a longer exposure to English than any other country which uses it as a
second language, its distinctive words, idioms, grammar and rhetoric spreading
gradually to affect all places, habits and culture.
C.The historical background of India is never far away from everyday usage of
English.
D.Since the early 1600s, the English language has had a toehold on the Indian
subcontinent, when the East India Company established settlements in Chennai,
Kolkata, and Mumbai, formerly Madras, Calcutta, and Bombay, respectively.

Ans 1. ADCB

2. DCAB

3. DBCA

4. ABCD

Question ID : 26433070666

Status : Not Answered

Chosen Option : --

Q.9 Select the most appropriate meaning of the given idiom.
On cloud nine

Ans 1.  Dreaming

2.  Flying

3. Very happy 

4.  Floating

Question ID : 26433070800

Status : Answered

Chosen Option : 3

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

An exaggerated statement not to be taken seriously or literally

Ans 1. Hypocrisy

2. Hippocrates

3. Hyperbole

4. Hypertext

Question ID : 26433060866

Status : Answered

Chosen Option : 1

Q.11 Select the most appropriate option to fill in the blank.

The __________ weapons which are easily available in the market are a big threat to
the security of some nations.

Ans 1. heated

2. deadly

3. casual

4. valuable

Question ID : 26433073794

Status : Answered

Chosen Option : 2



Q.12 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
This year, orange prices are forecast to grow, despite an expected increase in global
_______ .

Ans 1. production

2. assumption

3. abduction

4. organisation

Question ID : 264330104760

Status : Answered

Chosen Option : 2

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

She has / not written / a single novel / by three years.

Ans 1. She has

2. by three years

3. not written

4. a single novel

Question ID : 26433092267

Status : Answered

Chosen Option : 2

Q.14 Rearrange the parts of the sentence in correct order.
The ministry officials
P. recommend the shortlisted names to
Q. the awards selection committee
R. sieve through the applicants' credentials and
S. have been working overtime to

Ans 1. QRPS

2. PQRS

3. SRPQ

4. SPQR

Question ID : 264330104653

Status : Answered

Chosen Option : 3

Q.15 Select the most appropriate synonym of the underlined word in the given sentence.

The professor refused to comment on the erroneous description of the historical
events in the journal.

Ans 1. Suitable  

2. Inaccurate  

3. Lucid  

4. Sensitive  

Question ID : 26433071960

Status : Answered

Chosen Option : 2



Q.16 Select the most appropriate synonym of the underlined word in the following
sentence.

Iyadurai Solomon was a great teacher because he instilled in all the children a sense
of their own worth.

Ans 1. neglected

2. stopped 

3. took out

4. inculcate

Question ID : 26433060805

Status : Answered

Chosen Option : 4

Q.17 Select the option that expresses the given sentence in active voice.

Does she know me?

Ans 1. Am I known by her?

2. Am I known to her? 

3. Is she known by me?

4. Is she known to me?

Question ID : 26433072473

Status : Answered

Chosen Option : 1

Q.18 Choose the incorrectly spelt word.

Ans 1. Contradiction

2. Hereditary

3. Abhorrent

4. Condencing

Question ID : 264330104756

Status : Answered

Chosen Option : 4

Q.19 Select the most appropriate meaning of the given idiom.
Someone’s heart is in the right place

Ans 1. Share secret worries with someone else 

2. Someone is good even if they sometimes behave in a wrong manner 

3. Change your opinion or the way you feel 

4. Suddenly feel so excited or frightened that your heart beats faster 

Question ID : 26433060471

Status : Answered

Chosen Option : 2

Q.20 Select the most appropriate synonym of the underlined word in the given sentence.

The wrestler retaliated the blow that he received.

Ans 1. Forgave

2. Reciprocated  

3. Welcomed  

4. Respected

Question ID : 26433071966

Status : Answered

Chosen Option : 1



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1)_____ many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2)_____,
and has received so much publicity, that most people are now (3)_______ about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4)_________ decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still
(5)________ with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in the blank 1.

Ans 1. has for 

2. is for

3. had for

4. was of 

Question ID : 26433073382

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1)_____ many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2)_____,
and has received so much publicity, that most people are now (3)_______ about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4)_________ decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still
(5)________ with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in the blank 2.

Ans 1. narrow 

2. rare 

3. steep

4. acute 

Question ID : 26433073383

Status : Answered

Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1)_____ many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2)_____,
and has received so much publicity, that most people are now (3)_______ about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4)_________ decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still
(5)________ with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in the blank 3.

Ans 1. affect

2. concerned 

3. trouble

4. involved 

Question ID : 26433073384

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1)_____ many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2)_____,
and has received so much publicity, that most people are now (3)_______ about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4)_________ decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still
(5)________ with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in the blank 4.

Ans 1. advance 

2. probable 

3. varied 

4. consequent 

Question ID : 26433073385

Status : Answered

Chosen Option : 4



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1)_____ many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2)_____,
and has received so much publicity, that most people are now (3)_______ about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4)_________ decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still
(5)________ with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in the blank 5.

Ans 1. danger

2. frighten

3. bullied

4. threatened 

Question ID : 26433073386

Status : Answered

Chosen Option : 2


